NORTEK

NORTEK VM Operations
Installation Manual Bottom Penetration - Double Bottom

P

.

www.nortekgroup.com
PRODUCT:

Nortek VM Operations

- 333 kHz Sensor Head with Double Bottom Penetration Assembly

Owner Company Name / Logo Project No.:

Contract / P.O. No.:

Originator/Contractor/Supplier Company Name Originator/Contractor/Supplier Document
Number

Nortek Netherlands B.V. 2043-NS0O-2-MB-002




Document History

NQRTEK

04 23.03.2023 | Update to Nortek NL and Sign VM SKA HHU CWI

03 18.10.2019 | Updated after Performance Test OAH @DA MBR

02 26.04.2019 | Issued for DnV-GL Approval OAH @DA MBR

01 15.10.2018 | Issued for Approval MWB OAH MBR

00 27.08.2018 | Issued for Review MWB MBR OAH

Rev. Date Reason for issue Prepared | Checked Approved
Copyright Disclaimer Warning

© Nortek Netherlands B.V. All
rights reserved. The
information contained in this
document remains the sole
property of Nortek
Netherlands B.V. Any
distribution or reproduction of
any part of this document is
prohibited unless a written
permission has been granted
by Nortek Netherlands B.V.

Nortek Netherlands B.V.
endeavours to ensure that the
information in this document
is correctly and accurately
stated but does not accept
liability for any errors or
omission.

The equipment to which
this document applies must
only be used for the
purpose for which it was
designed. The user must be
familiar with the contents
of the appropriate manuals
before attempting to
operate or work on the
equipment.

vww.nortekgroup.com




NQRTEK

Table of Contents

BT o] (=l o ] i Ofo] o (=T o (TSP PPPPTTTRTPPPIN 3
1. Technical SPECITICALIONS ......uiii e e e e e e e e e et e e e eanas 4
2. DNV Type Approval Bottom Penetration Unit ...........c.oiiiiiiiiiii e 4
3. INSEAHALION GUILE ...ttt e et e e et e et e e 5
3.1 Placement of Bottom Penetration & general inStruCtions ..........ccooevviiiiiii i 11
S VST @ I B ] = =V g o 1= V7= o T T 13
B ASSEMDBIING ..o s 16
51 SUDASSEMDIY ... e 17
5.2 Mounting the Gate Valve to the NSO DB Flange .........coouiiiiiiiiiii e 19
5.3 Preparing the Sensor Head fOr USE ........u.iiiiiiii e 20
5.3.1 Filling distilled water into the transducer chamber...........c.oooiiiiiiiiii e 20
5.3.2 Replacing the Polycarbonate Front Window .............coviiiiiiiiiii i 21

5.4  Assembly of the Extension Pipe to the Sensor Head............ccooiiiiiiiiiiiiini e 22
5.5 Combine the SUDASSEMDIIES ....couui i e 24

5.6 Install the NSO Bell Housing including the NSO Assembly of the DB on the Gate Valve ...28

5.7 JB Cable CONNECTIONS .......uiiiiiii e et et e e e e e e e eees 33

5.8 ProCeSSING UNIT ..ot ettt e e e e enaans 35
LT B T 1=7= 13- 1 01 o] 2 36

6.1 Assembling the NSO Bell HOUSING ......couiiii e 43

6.2  Assembling the Sensor Head for DB @SSEMDBIY .....cc.uuiiiiiiiiiiiiiiii e 45
7. Maintenance of the SENSOr HEA ..........iiiiiiiiei e 48
~ N NN AN AY \ \ | 1 ! / / s 7

vww.nortekgroup.com



The VM Operations package with a 333 kHz sensor head is an Acoustic Doppler Current

1. Technical specifications

Profiler (ADCP) for use on operational offshore vessels. The modern, directly applicable
software allows easy operation. It comes with a junction-box and a processing unit to
display data in real time. VM Operations has the primary function of a vessel-mounted
current profiler and can provide real-time current profiles up to a range of 125m. As an
option the system can output Bottom Track (speed over ground) information over a
direct serial line, from the same junction box. Information valuable for navigation or
station keeping purpose. An optional DNV type approved bottom penetration allows swift
maintenance and hassle free operation of the sensor head.

See for the most recent product information:

https://www.nortekgroup.com/products/signature-vm-operations

This document guides you through the installation of the Double Bottom version of the
Bottom Penetration unit.

2.DNV Type Approval Bottom Penetration Unit

The VM Operations can be delivered with a bottom penetration with a type approval of
DNV according to DNV certificate TAS000002CU-Revision 1.

Delivery of a bottom penetration consists of:

e Bell housing with accessories. The bell housing is made of Steel EN10250-2/Grade
S355j2G3+N with material certificate EN 10204:2005 3.1 and product certificate
based on a witnessed pressure test by DNV. Alternatively, the bell housing can be
delivered with a product certificate by either Lloyd's Register or Bureau Veritas
based on the DNV type approval and witnessed pressure test by Lloyd's Register
or Bureau Veritas respectively.

e Gate valve DN200 PN10 of ductile iron according to the DNV type approval
certificate with product certificate by DNV, Lloyd's Register, Bureau Veritas, RINA
or ABS

e Two flanges for a double hull vessel or a single flange for a single hull vessel
according to the DNV type approval certificate. Flanges are made of steel
EN10250-2/Grade S355j2G3+N and come with a material certificate EN
10204:2005 3.1. A steel pipe for double hull vessels is to be supplied by the yard.

In case a class society does not accept flanges as described above, drawings in PDF and
STEP formats are available free of charge. You may find these drawings suitable in cases
the society requests a material certificate 3.2. or requests a different thickness or
different material is needed.

We advise to discuss installation of this bottom penetration with the class society well in
advance of installation.

ww.nortekgroup.com


https://www.nortekgroup.com/products/signature-vm-operations

3. Installation Guide

This guide provides installation instructions for the Nortek VM Operations for double
bottom construction. The assembly drawing/general arrangement drawings provide an
overview of components required for installation. The following drawings are referred to
in the document, and given below:

Figure 1. N2043-060 NSO DB Assembly

Figure 2. N2043-060 NSO DB Assembly, sheet 2 (maintenance space)
Figure 3. N2043-065 NSO Bell Housing Assembly (JB1, 100 - 240V AC)
Figure 4. N2043-040 NSO Assembly for DB

Figure 5. 4430-6010.01 Junction Box VM Operations

vww.nortekgroup.com



RTEK

N

Figure 1. N2043-060 NSO DB Assembly, sheet 1 (NSO:Nortek Signature Operations)

woddnoibjapourmmm - woodnoiBispoumiinbul - ADMION - pny ISE] - Z usyonBupa - §v yaHoN jo Apadoid Bumbiq

H89.% 08

s sismimn it | 7,10 [188US

SBOUTIBIOl IO j88ys |ousiow
e v oSl . 810C°90°GC .
WWE O/ = X SOWRSa S5 9|28 H=l T
T BY9sT 7 ¥SE0G9 MILHON
21D s3oURIBIOL Aq umoig wbiEm ON A
e I 090€¥0TN

oM

090-0X--1SN-£¥0Z Alquisssy 4d OSN

*UOIsIABI }58)D] S81DJIPUI I0j0D Pay

"UOISIAS] D S8JDOIPU JBLS] *A8Y PUD UOISUSLUID Uoloadsuy] -

'S9JON

a 0FFLZ O3N ‘P2Lopdn WOg | SIoUSoN| 1 slozorel 1 TiDN.D_ 2l
El £051Z 03N PSPPD ON AUl ‘Pajopdn WOg| u 0Z0T 10F% 1 1 70§ Low|
El {5617 03N PaBuUDU SWON| 1l |zz0ZB0ET i} TSNSQ
o [Py T———— fis pancusiy 3 |
g 601 19345 AollV 58 X OZW MBI05 X8H 0zeoly | Seo-evoZN | Sl
9l 12215 Aol OZW 10N XoH BLEOLF | OELWSR904 | 71
91 13315 QALVIE-ONIZ ¥IHSYM HDOT LMdS 0TW lzeoly | ssTveozls | £l
g 601 19345 AollV 08 X OZW Ma10§ X8H sle0ly | 9sevolcls |zl
i SAHSYM
91 | 19245 Aollv paipid-ourz R A sleoly | osLvssrls | L
L Aiquisssy BuisNoH (129 OSN £S0-S¥0ZN | Ol
! 80 403 AIquiassy OSN 67£059 | vo0evOIN | 6
_ uoyl B1ong 1 I01OOPUI A DDA B105 LOEPES 9861155 | 8
z 18gany usidosN 0LNd 00ZNQ }8150D zZoL0Ey 1129207 Vi
N+£o2Ie0es €20 y
! |:epoio /706201 NA 12248 |-ax-IsNer0z sbuop doj qg osn | FLEFLS | 6C0EFOCN | 9
L PIDPUDIS PIDA paplam aq o} 2joid do) 4 - G
L PIDPUDIS PIDA ¥02q dol 9g - ¥
N+£Ozleses _
L |:eprio /7-05201NT 19218 adid €
N+£DTIG5ES 920-0X B
L |:eppio /706201 N3 12815 |-1SN-6F0F @BUDl Woyog gg osn | PLEVLS | 8COEROCN | ¢
L pIOPUDIS PIDA 10y sdiys B |
D [BUSIDW uondussaq ON AU oN Bma _..»n_.ﬁ,

www.nortekgroup.com



wodrdnoibyapoummm - woddnoiBispougdinbul - AoMmioN - pny 1GE| - Z usyonBUDA - §v 33HoN jo Apadoid Bumpig

RTEK

N

*UOISIAG 15810] S84D0IPUI J0j0D pay

proyeren
"UCISIABI D S8JDDIPUI J818] "ASY PUD UOISUSWIP Uoljoadsul -

wnameu st | 7, JO 719BUS

SI0UDIBI0L SBUIC JEEINS |ouBDW $8JON
e oxa eV 0S:1. 8102'90°SC
WS O+ = X SOWID3g 8zg :8j00g 8100

T By96z

:Ag umpig yBism 7 .Vm.mom.ﬂuz AU ¥ m Fm Z

A R 090-€70ZN 5o

@ [ 090-QX+TSN-E70Z AIqISssY 90 OSN
a OFF|Z O3N "PaIDpdn WOE | SIDUSIOW| u s10Z018L L 1020181
El £051Z OIN ‘P3PPD ON AUl ‘pajopdn WOS| u 0Z0T LOFL u 0zOT 107 ||
4 £561% 03N ‘PeBucyo swoN| LI 02 '80°E: 1L |zzozeoed
ey wogdusag pabuey) ] —— ] (0|20 pepeyd (g pabuew) Aeg pbue

Figure 2. N2043-060 NSO DB Assembly, sheet 2 (maintenance space)

lleys woyog sdiys

poayAng

SAIDA

uoljisod Buyolado ww 05 |

Bulien

www.nortekgroup.com




RTEK

N

Figure 3. N2043-065 NSO Bell Housing Assembly (100 — 240V AC)

woodnoibjspourmmm - woordnoibyspouglinbul - Aomion - pny ISEL - £ usyonBuoA - Sy ¥8poN jo Ausdoid Bumpig

V44

ez | 14O 498U usion
Essnéusg_sa 194 s Gl o0os 610C°0L°0€ g
e | ML BIVLE ) ATLHON
e S90-EVOIN s
o AOZZ 197 AIquisssy BUISNOH 189 OSN
- 95¥1Z OIN "£50-CFOZN Woy jno pajoiedss| 11 610Z'0L°0€ u 51020108
A4 £581T 03N ‘paBuDyo SWON| 1L 0Z°80°C 1 |zzozeoey
aoy ungauosag pbueyy g q pancday|ig
8 v ¥V 6£F NIQ MOT inug £0101¥ - £l
¥ SS91E 12USDM JOI BN STO0LY - zl
¥ (Fv) 918 Ma10s doD 20§ PH UOHNG OEX8W | 50Z01¥ - L
L | SE0L1vd ‘122)S PIW 0TW %€ 'ADEZ - 191 90101 | Bumpbip e AvD G35 10ZOZOSYW | 01
£ $S91E 7V 9'1%6'6X1'9 J2usom Buuds 9w | 9£001¥ 9TYVES 16 6
L 064 §'1XE9 W ND IHDIANIHS FLEFLS 0£9Z£0TS "IN UV 8
£ 91ESS (P¥) SSPLE ¥ 1X9W “40S X2H SZE0lY 60EVYSEIEL Vi
L ss91E jenopig LIEFLS 0£0-€¥0ZN ?
z $S91E SS9 1€ M21DS PDBH XSH OrX8W 162017 9EEVSEIES S
L ss9le 1SN 05@ 2did dwpiD doy glEvLS 9£0-E¥0CN ¥
8 SS9LE SSPLE 9 LW $NN X2H 962017 SIEVOS LF6 €
z vV /S591E TSN G2 1X9 LW POY pappaiy] ¥0E01¥ S10-€70EN z
l zw%w.ww_%mu“_ooﬂwmo BuIsnoH ll2g OSN 6LEVLG £20EF0ZN L
ALD |oUaowW CO:Q_‘_UwGQ ON AU| ON UBQ C._O.nﬂ_

*UOISIABI |$B)D] $8}D2IpUl 100D Pay
“UOISIABI D S3JDOIPUI 181}8| A8y PUD UOISUSLUIP Uoloadsul -
RETIN

ovED

0
o
00y

8

www.nortekgroup.com



RTEK

N

Figure 4. N2043-040 NSO Assembly for DB

woodnoibjspourmmm - woo dnaibyspouglinbul - AomioN - pny 1SEL - ¢ usyonBuDA - Sv ¥euoN Jo Apadoid Bumpig

swaenpmeneen| 140 L9SYS —
st eV V/N . 8l0C' 9061 .
WSO/ + = X SOWRSa S5 19028 K=T1 T
smsBans0-s  ssSuY B "
m_,“mmu._gma- mg.—\é :Aq umoig V_.m\;w .v yBiem N.—N.mwom.ﬁuz Aul ¥ m Fm Z
e B OVO-EVOTN ¢ \eig
© 3 g5 104 A|quassy OSN
3 $5¥1Z OIN ‘PSISLOD ON AU| MBIOS "FPO-EFOZN OF PSAOW Z jaays| u 6102 01°0¢] 1 S10Z°0L
El £051Z O3N ‘P3PPD ON AU 1 0Z0Z 10% L u 0ZOT 10°F |
3] £5561Z 03N ‘sBunyD 3woN u ZZ0Z BOEZ| 11 |ZEozeoey
3y vopduosag pebuey) fe g pancaidy 0|=eq ppay) fig pel =0 pebueyd
75107 (poy) y
L SnoueA FSIAOW/HBTIDW /# slgop wg | B00CE | SPOTOSGEN
L 591 9LEISIV LESY D20y [095 LIEFLS | £2011£00100SY
g winupyL 01 X W Ma10s slllud PPSH 1D | 990007 |  ZIOV/0EL6
[ AODIg WO | Wwoge odid uolsuspa pu3 OSN | 90EKZS 4E0-CFOTN
z 0N BN 07 x0'se Bul-O £lLL0zy -
9 ziB 1L Ma10s dpD 1834008 .8/ /X0Z-7/1 | 80000F -
L FoDIg WOd | 2did 3 BuisnoH Jajdopy OSN | ¥0EFZS 650-CFOTN
L 0N IIN 7 7x9" 68 Bul-O 5500z -
[ Alqwisssy ZHA00S OSN L0Sr06 £70-EFOTN
ALD |DLSIOW uoldussaq ON AU| ON Bmq F.%M:

*UOISIASI }S3|D| $8}DJIPUI 10]0D pay
“UOISIABI D S3JDOIPU| 18118] “A8Y PUD UOISUSWIP uoljoadsu| -
'SBJON

199

a

961 ¢

9

www.nortekgroup.com



RTEK

N

Figure 5. 4430-6010.01 Junction Box VM Operations

L [ s v € z v
1oL W3 EZ0C/EVSL v
abied 1BUBiaq kg ey
MSELJ IYA OFE00
U e wolosoery Jamod suiew sdiyg
aaepAEag - suoneladQ aimeufiig xog uogauny an
@ [eReNe]
Lpasiape ate syyBual ajqes jeuas ajqissod j5apoys,
gz | YU e
SANFEL S ZWW 7' JTINPUDI EWIUIRY
Mg palsisl PApIAINS X T
Jewoy elep feiaudosg 1740 Henen U0 Inding
(uondQ pasuad) - 3|ged UNEJUNWLIO Y [BUES
wwig - Ep al9e) WIWE -3 EIP a19E)
= 1H w\_m LXGLIA pUEID B19ED S LX0ZA RUEID w__u_mu, \\\\\ |
i T r T
Xoguoaune s i = - -
bt =
- pwswuen p— g - 2 o
EXr I|en c 5
A ~ jul =z
5 E 2
B
Zha— amm O
fes02-503 oms vcom 59 E o &
—fn B — o = ISl
n WHL% 7 o 5 S © |2
| N ] P wara soseusaa udn .._||_
AU uE gp Ty " Y ba [ yomg fiajeg
%G Y o fo ano E
54 - = ™
~ ali :
IWADED ! |
H I obng
I ST R
180 2 |= B - ! |
a w 2 X1 zE7SY N9 ZEZEY Jiddng omod ¥ 3030 _‘%}‘%L
2259 il — N M I
£l42 Lo =
B = ol
i v a
3 B
o IHADEL
—spon, —
" _ A
= —|m
21 2 |7 =41
,l |||||||||||||||||||| a7
Wil 6 el 3[ED | |
9 PGZA PURIGRAED | T T T T T T ST - - - === m T
(1038uB3 JauIB YT plEpUEls us Buisnoy 1yonax)
au-aredeon jousydury
2l 2 2
ZE 2 B2
215 |5 |27
wony wBus| xew h
Jled palsiin | PARIBINS 8510 o
wun Buissadoig-ya oL - 89ed euiayig paddns piea L
10REUUDD ALY PIEpUELS . ! H
I ! |
[ T
| (
L
[
wer B ZO0IWADIS W O1'81qe) EEE WA BIS AovoN
z B v B ] z ;

10

vww.nortekgroup.com



The Nortek vM Operations is based on the Doppler principle and must be completely
submerged in water and should be installed in an area with minimal acoustic noise. The
sensor head should not be installed close to the bow thruster propeller outlets, or other
hull installations (outlets, vents or other protruding details), this to avoid unnecessary
aeration or even cavitation and turbulence. Avoid locations where air may be trapped in
heavy weather.

3.1 Placement of Bottom Penetration & general instructions

A The sensor head is to be installed in the ship centreline, or as close to the centreline
as possible, in a horizontal plane that is not subject to turbulence or aeration.

In most hull designs the optimal location will be in the fore part of the ship, however
there may be cases where other locations are preferred, please inquire your local naval
architect for the best option(s). Nortek can provide engineering support on location for
the NSO upon request.

Forward direction of the shi;

et

The sensor head itself should be handled with caution during installation and assembly.
As an option, Nortek can provide a service engineer to install the instrument itself after
the bottom flange and gate valve are installed. Please check agreed purchase order
scope for installation before proceeding. All items identified in this document as part of
assembly will be delivered by Nortek. Please check Nortek shipment box(s) for parts.

Note that the welding to hull structures and structural support of the items may be
subject to separate approval by classification societies for each installation on board a
ship.

A The active surface of the sensor must be installed with the sensor head at a
maximum of +/-1 degree to the ships horizontal plane.

If a flat, horizontal section is not available for instrument fitting, the yard must construct
a suitable landing.

A Welding seams or any other sharp objects in the direct area of the transducer head
should be removed, smoothed and/or rounded off, in order not to create turbulence or
aeration in front of the sensor head while at speed.

www.nortekgroup.com 11



Nortek will deliver a DNV class approved Bottom Penetration. See enclosed data sheet
and GA for details of the Bottom Penetration. When handling the Bottom Penetration
assembly, all lifting devices must be attached on the outside of the valve. The Bottom
Penetration assembly should be placed in a service accessible place, large enough for
installation/ disassembly/maintenance of the sensor head and the gate valve.

A Protect the active element of the transducer/sensors during transport and
installation, and do NOT paint the surface.

A Please note that the sensor head is filled with purified water and requires protection
from frost.

~ N N N N N N N vy | L e www.nortekgroup.com 12



e Protect the inside of the NSO DB Bottom Flange (item 2, drawing no. N2043-060,
sheet 1) before welding and handle with care!

4. NSO DB Flange welding

e Cut a hole with a diameter of @ 342mm in the ship’s hull (bottom shell).

Ship's Hull

340 mm

e There is no need for specific rotation / flange orientation for further mounting.

e Weld the bottom flange (item 2) drawing no. N2043-060, sheet 1 with the neck
facing upwards (for access from inside the vessel).

: : Item 2
Inside the vessel |

Sea water 3

e Weld the flange (item 2) drawing no. N2043-060, sheet 1 horizontally (-/+ 1
degree) to the ship’s bottom shell.

e The flange bottom must be flush with the ship’s bottom shell.

NN N N N N N s s www.nortekgroup.com 13



250mm
minimum distance

i
5

J

weld

<

SIS S S,
.

_ Blanking plate

/

|

weld

-

\~

Inner plate

g
2
.

i
)
'

Ship’s bottom shell

e Then weld the pipe (item 3, yard supply) drawing no. N2043-060, sheet 1 with ID
200 mm vertically (-/+ 0.5 degree) to the bottom flange neck.

B245

Min. pipe length above o ‘1
Inner plate 250 mm W200.04 -0.

Plate welded to

Inner plate -, 8

Inner p:>lc:|1e“j

i
4

Yard Supply:

Pipe ID 200mm

Pipe with a minimum wall thickness 20mm

www.nortekgroup.com 14



e Weld the top flange (item 6) drawing no. N2043-060, sheet 1
(-/+ 0.5 degree) on the top of the pipe with the neck facing down

——

e Remove all welding seams after welding to make a smooth surface, both inside
the flange / pipe walls and on the bottom face (flange / ship’s hull).
e Coat the flanges and pipe according to yard standard

After completion of the welding, protect the flange and opening means of a blanking
plate until installation of the bell housing assembly.

NN N N v | L e www.nortekgroup.com 15



This chapter provides instructions for assembly. It first introduces the breakdown of
subassemblies and then gives instructions on how to install each subassembly.

5. Assembling

Illustration of Completed

Assembly
~ NN \ \ \ \ | ] ! / /
~ 0~ N~ N N NN \ \ \ | 1 ! / / /

www.nortekgroup.com 16



5.1 Subassembly
There are 3 main subassemblies.

¢ NSO DB Flange and Gate Valve
e NSO Assembly for DB (Drawing no. N2043-040)
e NSO Bell Housing Assembly (Drawing no. N2043-065)

Otherwise see the main drawing (Drawing no. N2043-060) for item numbers / inventory
numbers.

Description Figure
NSO DB Flange and Gate Valve

NSO Assembly for DB (Drawing no.
N2043-040)

~ 0~ N~ N N N N N N ! I L A A www.nortekgroup.com 17



NSO Bell Housing Assembly (Drawing
no. N2043-065)

Please note that the dimensions of the
junction box differ and do not comply
with drawing N2043-065, see chapter
5.7 IB Cable connections

N N T T | | L e www.nortekgroup.com 18



After welding the top flange (item 6 of drawing no. N2043-060, sheet 1) the gate valve
can be mounted; see drawing N2043-60 for the relevant item numbers.

5.2 Mounting the Gate Valve to the NSO DB Flange

8x Nuts (item 14)
—— 8x Split lock washers (item 13)
1x Gasket (item 7)

i =« 8xFlat washers (item 11)
EEe *—— 3x Bolts (item 15)

e If applicable, remove the blanking plate from the flange.

e Inspect the flange and ensure it is free from any defects and debris.

e Place the gasket (item 7) on the top of Top flange (item 6), then lower the Gate
Valve (item 8, approx. 85 kg) (with open gate) using appropriate lifting gear.

e Use bolts, flat washers, split lock washers and nuts.

o A Align parts before tightening the nuts!
e Close the gate valve after it has been mounted.

Use the (star) method of tightening the
nuts as shown in the figure.

For each torque setting, repeat the star
method until all nuts are tightened to that
torque. Only then go to the next torque
setting, and again, repeat the star method
until all nuts are tightened to that torque.

Tighten all nuts in three steps; Tighten nut
1,2,- 8 with 25 Nm torque, then 37 Nm and
lastly to 45-50 Nm torque.

[18 Ib-ft, 27 Ib-ft, 37 Ib-ft // 220 Ib-in, 332
Ib-in, 443 Ib-in]

NN N N N N N s s www.nortekgroup.com 19



If the unit was not filled on arrival, the transducer chamber should be filled with distilled
water, leaving a minimal amount of air in the transducer chamber. It can help to rotate
the sensor to allow the larges air bubbles to escape and to allow the tiny air bubbles
flow upwards to the filling hole overnight.

5.3 Preparing the Sensor Head for use

5.3.1 Filling distilled water into the transducer chamber

The instrument may have been shipped in “dry condition” (verify your delivery
agreement). If your instrument is delivered in “dry condition” filling the chamber with
distilled water is essential for the instrument to work. Follow the instruction below, you
will need about 310ml of distilled water to fill the chamber completely.

A Its very important to use distilled water since this is an acoustic neutral liquid. Take
necessary measure with extreme heat or cold (below 0 degrees Celsius) when in
drydock, transportation or in storage. Or, alternatively, delay filling the transducer
chamber until after launching the vessel.

Place the instrument in a clean
environment on a horizontal
plane with the bolt, that closes
the transducer chamber, on top.

Unscrew the bolt and verify the
small gasket on the bolt is still
intact.

Use a funnel and a small bottle or
a syringe or a laboratory wash
bottle. Fill till the camber
completely without injecting any
air. Keep the transducer opening
open to allow air to escape. When
the chamber is clos to full keep
injecting water into the water of
the transducer chamber while
carefully retrieving the outlet.

~ N N N N N N N vy ! L e www.nortekgroup.com 20



Wait a few minutes and manually
try to move the unit to collect all
air in one bubble and ensure that
its is escaped. Top the unit up
with extra distilled water at the
end.

Tiny air bubbles may take up to
24h to form into a larger bubble
that is able to escape to the
opening.

When the sensor head is facing
downwards a marginal amount of
air is allowed to stay in front of
the central bronze temperature
sensor, however can better be
avoided.

When the transducer chamber is
filled, tighten the bolt at
approximately 1,1 Nm, hand
tight.

The instrument is now ready to
be assembled into the bell
housing.

5.3.2 Replacing the Polycarbonate Front Window

Tighten and untighten the 8
screws using the star method as
in 5.2.

Clean the surface and check the
status of the O-ring.

A Replace window and mount it
with the small surface diameter
towards the outside.

Tighten screws “hand tight”

Outside

www.nortekgroup.com 21



The sensor head should be handled with caution during installation and assembly. The
transducer window must be free from all defects.

5.4 Assembly of the Extension Pipe to the Sensor Head

See drawing no. N2043-040 for
finding item numbers. Align the X
of the adapter housing extension
pipe with the filling point of the
sensor head. Grease the
connector with 3M silicon spray,
mate the connector and mount
the housing extension pipe on the
back of the sensor head.

Mount the two O-rings (item 5,
drawing no. N2043-040) on each
extension pipe. Note there may
be several extension pipes due to
distance between bottom hull and
top of the assembly.

Mount only the first extension
pipe before proceeding (if more
extension pipe is needed, it's PR
better to install this after the bell @
housing installation is done (see

below).

www.nortekgroup.com 22



Thread the cable through the
extension pipe.

A Align the pipes. Use markings
for alignment.

Screw in 8x flat head screws
(item 7). Torque: 1,1 Nm

Pdsition marks

W <

The sensor head with pipe
adapter and one extension pipe
ready for further assembly.

< =

www.nortekgroup.com 23



5.5 Combine the Subassemblies

NSO Bell Housing Assembly
drawing no. N2043-065

Please note that the dimensions
of the junction box differ and
do not comply with drawing
N2043-065, see chapter 5.7 JB
Cable connections

NSO Assembly for DB drawing
no. N2043-040 'J%
X

Please note that the sensor
head requires to be filled with
distilled water before use. This
requires to have the sensor
head outside the bottom
penetration assembly. See I
chapter 5.3.1 for information X
about filling the sensor head.

Loosen the four M16 nuts on
top of the clamp. Item 3, in
drawing no. N2043-065.

N N T T | | L e www.nortekgroup.com 24



Loosen the Skindicht, item 8
drawing no. N2043-065
carefully! Only loosen the top
nut and avoid rotating the
whole Skindicht. Please use the
Nortek supplied thin wrench for
this. See the arrows in the
illustration. Loosen the top nut
enough to allow the extension
pipe to pass through the Bell
Housing.

Unscrew the two M8 bolts item
5 of drawing no. N2043-065
and screw them into the next
holes to open the clamp item 4
of the drawing no. N2043-065

Lay the Bell Housing on its side
for easier assembly.

Do NOT pull up the sensor by
the cable! Use the extension

pipe.

Thread and pull the extension
pipe all the way through, so
that the transducer window is
flush with the flange of the bell
housing. If possible, pull the
instrument so that the
transducer window is just inside
the bell housing.

Ensure that cable is protruding
from top of extension pipe.

www.nortekgroup.com 25



Then move both M8 screws,
item 5 in drawing no. N2043-
065 back in the other treaded
slots and tighten the clamp in
order to fix the sensor head
inside the Bell Housing.

Tighten the Skindicht.

And tighten four M16 nuts, item
3, on top of the clamp drawing
no. N2043-065.

Handle the transducer window
with care. It must be free of
defects and blemishes.

Then turn the Bell Housing with
the correct side up.

www.nortekgroup.com 26




NQRTEK

Remove the plastic foil that

protects the polycarbonate

front window from scratches

during transport and

installation.

~ ~ N ~ AN \ \ \ | ] ! / /

~ 0~ 9~ N NN N\ \ \ \ | 1 ! / / Ve

www.nortekgroup.com 27



5.6 Install the NSO Bell Housing including the NSO Assembly of

the DB on the Gate Valve

The Gate Valve must be closed!

Place the gasket item 7 in
drawing no. N2043-060 on the
Gate Valve.

Place the arrangement

Use proper lifting gear to
position the arrangement
without damage.

Please note that the Bell
Housing may be lifted by using
straps on either side of the
clamp

Mount the flat washers (item
11), bolts (item 12), split lock
washers (item 13) and nuts
(item 14) drawing no. N2043-
060.

assemblies on top of the Gasket.

www.nortekgroup.com 28



A Align parts before tightening
the nuts!

Use the (star) method of
tightening the nuts as shown in
the figure.

For each torque setting, repeat
the star method until all nuts
are tightened to that torque.
Only then go to the next torque
setting, and again, repeat the
star method until all nuts are
tightened to that torque.

Tighten all nuts in three steps;
Tighten nut 1,2,- 8 with 25 Nm
torque, then 37 Nm and lastly to
45-50 Nm torque.

[18 Ib-ft, 27 Ib-ft, 37 Ib-ft // 220
Ib-in, 332 Ib-in, 443 Ib-in]

Now the remainder of the extension pipes can be installed and the sensor head can be

lowered into place after this.

Unscrew the two M8 bolts (item
5, drawing N2043-065). Put
them into the two holes further
from the centre of the clamp
(item 4, drawing N2043-065).
Tightening them in the outer
threaded holes will force open
the clamp the Hold the
extension pipe securely.

Lift the clamp up about 34 of the
extension pipe and tighten the
M8 screws.

Lower the extension pipe
carefully until it lands on the
M16 nuts (item 3) drawing no.
N2043-065. Loosing Skindicht
(item 8) to allow the instrument
to be lowered whilst holding
securely in the extension pipe.

300mm

www.nortekgroup.com 29



Once the clamp lands on the
threaded rods, tighten the
Skindicht (item 8).

Add another extension pipe by
repeating the steps above.

Mount the 2x O-ring (item 5)
drawing no. N2043-040 on the
extension pipe.

Thread the cable through the O-
rings and extension pipe.

Align the pipes. Use the
markings for the alignment.

Screw in 8x flat head screws
(item 7) drawing no. N2043-
040. Torque 1.1 Nm.

Repeat the steps above until all
the extension pipes are
installed.

Note that the top pipe (item 6)
drawing no. N2043-040 is
unique from the other extension
pipes and must be installed on
top.

Thread the cable through the

Roxtec seal (item 8) drawing no.

N2043-040 and mount it on the
top.

Tighten top screws.

www.nortekgroup.com 30



Once the top pipe is installed.

Lower the pipe (instrument
arrangement) carefully all the
way until the transducer lands
on the bottom of the flange
edge. It must be flush with the
ship’s bottom hull!

Check and verify that the
instrument has been lowered
completely.

When in dock, verify underneath
the vessel if the sensor head is
flush!

3 &

— —®

And make a mark (line) with a
permanent colour marker on the
extension pipe which indicate
the landing position.

www.nortekgroup.com 31



Before tightening the clamp and Skindicht, the transducer direction must be fixed.
Turn and adjust the position mark toward the ship’s forward direction.

Then tighten the Skindicht and the clamp without changing the orientation of the
extension pipe and instrument. Make a mark with a permanent colour marker on the top
of Bell Housing (item 1) drawing no. N2043-065 which indicates the forward position of
the ship.

Take a picture of the completed installation showing the top part of the extension pipe in
the Bell Housing and a picture from below the vessel, showing the transducer window
being flush with the hull. Please send the pictures to Nortek Netherlands B.V. for
documentation of the completed installation.

A The instrument should not be left flush with the hull unless the vessel is in water.

If the vessel is in dry dock the instrument should be lifted up slightly in the shaft in
order to protect the transducer window. After the vessel launch the instrument must be
lowered again in the correct position to be flush with the hull.

www.nortekgroup.com 32



5.7 JB Cable connections

The dimensions of the junction
box (JB) do not correspondent to
those in drawing N2043-065. The
correct design and dimensions of
Nortek junction box model 4430
are noted in the figure to the
right.

The cabinet is in accordance to
the specifications of the
Nvent_Hoffman, type
MAS0352515R5.

The cabinet can be installed on
the bell housing bracket, or wall
mounted in its close surrounding,
provided the length of the
supplied cable allows for this.

i— 250mm —i

33Tmm

157Tmm

SOl ey

260mm 300mm

= 250mm -

The outside of the JB has a
switch on the outside to turn the
power on or off without opening
the cabinet. The cabinet’s door
can be opened and closed with an
universal key.

www.nortekgroup.com 33



The bottom plate is fitted with
three cable glands and one
connector.

- A cable gland for a yard
standard power cable
towards the yard power
supply (100-240V AC /
70W) M20x1.5, cable
diameter 6-13mm

- A cable gland for serial
output M16x1.5 with
acable diameter 5-10mm

- A cable gland is fitted for
the cable to the sensor
head

- Amphenol Socapex RIFB71
Ethernet connector
towards the Processing
unit. This connection
requires a yard supplied
Catb5e, shielded twisted
pair cable.

The junction box is pre-wired
according to drawing number
4430-6010.01. A yard standard
AC power cable should be fitted
on the L, N and PE terminal
blocks on the right.

If the serial output will not be
used, it is recommended to leave
the serial Sub-D connector
disconnected from the serial
converter.

www.nortekgroup.com 34



NQRTEK

5.8 Processing Unit

Version 4420 of the Nortek
Vessel Mounted processing unit is
designed to be fitted in a 19”
survey rack inside a conditioned
room.

Housing 19” rack-mountable 2HE
Dimensions 482x88x400 mm . o
100-240 V AC, 100 W Brecessing Unit
Input
Max.
Total weight 5 kg

Power, Sensor head
LAN, 2x DisplayPort, 1x
LAN, 1x LAN for remote
desktop, 2x USB, 4x
RS232|RS422|RS485
configurable port.

Connections

The processing unit requires
input of a professional grade
NMEA heading and GNSS sensor.
The VM Operations version
software manual gives more
information about connecting the
system to the junction box and
its software configuration.

ww.nortekgroup.com



6. Disassembly

To disassemble the NSO DB assembly follow the steps bellow:

Disconnect the cable between the
sensor head and the junction box
(item 10) drawing no. N2043-065.

Unscrew the screws on top of the
Roxtec Seal (item 8, drawing
N2043-040), to allow the cable and
seal to move relative to the
extension pipe.

NN N N v | L e www.nortekgroup.com 36



Use a permanent colour marker
to mark the original pipe height
and orientation before loosening
the clamp.

Loosen and remove the four M16
nuts (item 3, drawing N2043-
065) that hold the clamp (item 4,
drawing N2043-065) in place.

Loosen the Skindicht carefully!
Loosen the top nut of the
Skindicht with the Nortek
supplied wrench without moving
the Skindicht itself. See the
arrows in the illustration.

A The seawater will flow up in
between the extension pipe and
the Skindicht, when the ship is in
the water!

b4 NOT there

Pull up the clamp with the
instrument arrangement all the
way up! (Approx. 300mm,
assuming no extension pipes of
455 mm each are present)

A Tighten the Skindicht

300mm

www.nortekgroup.com 37



Unscrew the two M8 bolts (item
5, drawing N2043-065). Put
them into the two holes further
from the centre of the clamp
(item 4, drawing N2043-065).
Tightening them in the outer
threaded holes will force open
the clamp.

Lower the clamp and then move
both M8 screws back and tighten
the clamp in order to fix the
remaining sensor head
arrangement.

Place the four M16 nuts (item 3)
back onto the threaded rods
(item 2) and tighten them to
secure the clamp (item 4) in
place.

Unscrew the 8x flat head screws
item 7 on drawing no. N2043-
040.

Pull out and disconnect the End
extension pipe from the lower
Extension pipe!

www.nortekgroup.com 38



Loosen the Skindicht carefully!

Loosen the Skindicht carefully!
Loosen the top nut of the
Skindicht with the Nortek
supplied wrench without moving
the Skindicht itself. See the
arrows in the illustration.

A The seawater will flow up in
between the extension pipe and
the Skindicht, when the ship is in
the water!

www.nortekgroup.com 39



Repeat the steps

A Tighten the Skindicht after
pulling up the extension pipe.

Unscrew the 8x flat head screws
(item 7) drawing no. N2043-040.

Pull out and disconnect the
Extension pipe from the lower
Extension pipe!

Repeat steps until the last
Extension pipe is disconnected, and
the sensor head is inside the bell
housing.

A Tighten the Skindicht
Tighten the clamp

A Close the Gate Valve by turning
the wheel.

www.nortekgroup.com 40



Unmount bolts (item 12), flat
washers (item 11), nuts (item 14)
and split lock washers (item 13)
drawing no. N2043-060.

A The seawater inside instrument
housing will flow out on deck.

A After the gate valve is closed,
flow of seawater should stop before
you loosen the bolts completely.

A Measures should be taken to

.—.’\
Eollect the seawater from hull ﬂ%
Ottom_ N R S

Lift the Bell Housing assembly by
attaching straps to both sides of the Use straps
clamp.

Lower the arrangement on a flat
place. Take care not to damage the
sensor head window at the bottom
of the assembly (N2043-040)

NN N N v | L e www.nortekgroup.com 41



NGRTEK

Lay the Bell Housing on its side for
easier (dis)assembly.

Loosen the four M16 nuts (item 3)
on top of the clamp drawing no.
N2043-065.

Unscrew the two M8 bolts (item 5,
drawing N2043-065). Put them into
the two holes further from the
centre of the clamp (item 4,
drawing N2043-065). Tightening
them in the outer threaded holes
will force open the clamp.

Loosen the Skindicht carefully!

Loosen the top nut of the Skindicht
with the Nortek supplied wrench
without moving the Skindicht itself.
See the arrows in the illustration to
allow the extension pipe to pass
through the Bell Housing.

Separate N2043-040 from N2043-
065

A Take care not to damage the
transducer window.

www.nortekgroup.com 42



6.1 Assembling the NSO Bell Housing

It is possible to assemble the NSO Bell Housing in a workshop.
All item numbers in this section refer to drawing no. N2043-065.

Mount the Skindicht sealing
gland (item 8) carefully and
ensure the hole and O-ring are
clean and in proper state!

Use the Nortek supplied (70mm)
wrench to tighten the Skindicht
on the Bell Housing

Thread the two M16 thread rods
(item 2) apply Loctite to the
M16 threaded holes in the top of
the Bell Housing.

(Loctite secures in 24 hours)

Screw in the two M16x175
threaded rods (item 2)

Thread 2 hex nuts M16 (item 3)
on each rod (item 2)

Use the two lower nuts (item 3)
to secure the rods (item 2) in
place.

Thread the two hex head screws
M8 (item 5) in to the top clamp
(item 4).

Note: the two threaded holes
closer to the centre of the clamp
allow tightening the clamp. The
two threaded holes each located
a bit more towards the outside
of the clamp allow forcing open
the clamp.

www.nortekgroup.com 43



Mount the top clamp (item 4)
onto the threaded rods (item 2).
Thread the two hex nuts M16
(item 3) onto each rod and use
these to secure the clamp in
place

Mount the bracket (item 6) for
the Junction Box onto the top of
the Bell Housing (item 1) with
three spring washers M6 (item
9) and three machine screws M6
(item 7)

Mount the assembled Junction
Box (item 10) using four
machine screws M8 (item 11),
four washers M8 (item 12), and
four M8 nuts (item 13). See
drawing no. N2043-065 and the
sketch to the right for further
details

Please note that the dimensions
of the junction box differ and do
not comply with drawing N2043-
065, see chapter 5.7 IJB Cable
connections

www.nortekgroup.com

44




6.2 Assembling the Sensor Head for DB assembly

The sensor head itself should be handled with caution during installation and assembly!
The transducer window must be free from all defects.
See drawing no. N2043-040 for finding item numbers!

The sensor head (item 1) with 10
m cable as standard.

Thread the cable through the O-
ring (item 2) and the sensor head
adapter pipe (item 3).

Lubricate the O-ring with
Molykote silicone, supplied in the
Nortek toolbox.

Place the O-ring (item 2) in the
groove on the sensor head.

A Align the sensor head and
pipe adapter. Make sure the “X"-
mark on the adapter pipe and the
filling point on the transducer
face the same direction

Screw in the 6x 4”-20 x 7/8"
socket cap machine screws (item
4) to attach the adapter pipe
(item 3) to the instrument
assembly (item 1). Note: these
are imperial size titanium
machine screws. Use the
(imperial size) Allan driver that is
supplied in the toolkit that comes
with the instrument assembly.

marks

www.nortekgroup.com 45



See drawing no. N2043-040 for
all details of the extension pipe.

Mount 2x O-ring (item 5) on each
extension pipe (item 9)

Lubricate O-ring with Molykote
silicone, supplied in the Nortek
toolbox

End extension pipe (item 6).

/“*\O
Lubricate O-ring with Molykote =
silicone, supplied in the Nortek J
toolbox X

Mount the two O-rings (item 5)
on the End extension pipe.

NN N N v | L e www.nortekgroup.com 46



Thread the cable through the End
extension pipe.

Align the pipes. Use the markings
for the alignment.

Screw in the eight flat head
screws (item 7).

Torque: 1,1 Nm, hand tight
Repeat the above with all the
extension pipes.

Position marks

Once all the extension pipes are
mounted, thread the cable
through the Roxtec RS31 seal
(item 8) and mount it on the top.

Tighten the top screws on the
Roxtec seal.

> O

» O

www.nortekgroup.com 47



7. Maintenance of the Sensor Head

We recommend a regularly scheduled procedure which will act as a preventative
measure to ensure your installed NSO assembly continues functioning as intended. The
following sections can be used as a maintenance guideline for the components that may

be exposed to wear and tear.

When cleaning the external surfaces use a mild detergent and pay special attention to
the transparent transducer’s window. When the instrument leaves the factory, the
instrument window surfaces are quite smooth, and it will take some time before any
growth starts. After the first cleaning, the surface is rougher, and it becomes easier for
new material to grow. Typical maintenance intervals are 6-12 month, but the growth
rates vary a considerably with the geographical location, water temperature, season,
and deployment depth. In general, heavy growth is seen in hot and shallow areas. Cold-
and deep-water areas see very little growth so maintenance can be less frequent. To
clean the instrument window, we recommend staying away from strong organic solvents
such as acetone. Barnacles must be removed mechanically, but we strongly advise
against using sharp objects capable of harming the instrument window.

To save time cleaning the instrument window, we recommend having a spare window
and distilled water onboard.

Check the pressure sensor and remove any dirt from the holes in the lid. Be careful
when opening the pressure sensor cap as it is easy to dent and to damage the sensor
behind.

~ S~ N~ N N N N N NNy s s www.nortekgroup.com 48



The grounding point should always be free from biofouling.

It is important to keep connectors clean and well lubricated. Before plugging in
connectors, we recommend to always blast the pins with compressed air, inspect them
for cleanliness and then protect the cable connector by applying a thin layer of silicone
lubricating spray on the pins before you plug it into the instrument. We recommend the
3M Silicone Spray.

Before deployment:

e Disconnect/disengage the connector set

e Flush the connector set with fresh water or compressed air, remove dirt.
Remember to check the female connector, too.

e Check that both connectors are dry. If not, let them air-dry.

e Inspect for damage, corrosion and cuts.

e Apply a thin film of 3M Silicone Spray or equivalent.

e Couple the connector set and check if they are properly mated.

~ N N N N N N N vy ! L e www.nortekgroup.com 49



Instrument cable care

e Do not pull on the cable to disconnect connectors.

e Avoid sharp bends at cable entry to connector.

e Ensure that the cable is fixed to the mounting fixture to
avoid mechanical stress to the connection.

O-rings are the critical component that keeps water out of the
housing and thus the instrument dry and functioning. If the
instrument has never been opened, O-ring inspection is not
necessary. However, when changing instrument window, you can
inspect and change the O-rings if necessary. If O-rings are

replaced:

e Using properly greased O-rings will help maintain sealing integrity and minimize
0O-ring degradation. Use enough grease to lubricate the O-ring thoroughly, but
not so much that it will attract additional debris.

e Check the O-rings and the O-ring grooves for grit, hair, lint, sand, or anything
that could potentially breach the O-ring seal.

e Clean the groove with a lint free swab or the folded edge of a paper towel.

e After frequent deployments or if O-rings or groves appear dirty, remove O-rings
and clean the groves. To remove O-rings, use finger pressure or the rounded
edge of a plastic card to lift the O-ring out of the grove. Caution! Never use a
metal object to remove an O-ring. It may cause damage to the O-ring or the
sealing surface.

e To check O-rings for damage, place the O-ring between the middle and index
finger and thumb. Then pull the O-ring through your fingers, feeling for any
debris or wear.

o If O-rings are dirty, it is best to replace them. Washing dirty O-rings with soap
and water is not recommended. Soap breaks down the lubricants and will
compromise the integrity of the seal.

~ ~ N~ N N NN A \ \ 1 1 / / /s s www.nortekgroup.com



